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--------- of the following term is related with Golgi boldies.
1. fcrer =T [Immune system] 2. TeHETcD! 42T [Suicide bags]

3. fIed<Ip 9erd [Demolition squads] 4. 14T 3P [Secretory organ]
.2  Gefieddl —————— B Jorgearan Hifres ured =g

Which of the following is not a physical property of an element?
1. T=IdT [Ductility] Z.WW [Electrical conductivity]
3. 3eHiaRIsR 1ffghaT [Reaction with acid] 4. HfSUTUN [Hardness]

.3 RGeS TSuge - - ———— 2 TIC® PHRUMY ST,

Rusting of iron causes due to -----------
1. gar for aroft [Air & water] 2. DITSI3AATSS JAT0T Urvft [Co, & water]

3. TS AT ERIGISH [0, & H, ] 4. TS 3T ARISSH [0, & N,]

.4 fColel NURLHTERe ATl Ticeh JelgediedT 3ech HYSIT 3Tobe] —
Mg Br,
Write the correct valency of the respective constituent element from the given molecular formula -
Mg Br,
1.Mg-1;Br-2 2.Mg-2; Br-1
3.Mg-1;Br-1 4.Mg-2;Br-2
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9.5

9.6

.7

9.8

9.9

9. 10

9. 11

aTefet —— - 3 el fsion o, g -84

------- is an example of the homogenous mixture.

1.3 [Milk] 2. 91581 [Alloy]

3. gaT [Air] 4. 931 1 37107 3 [Option 1 & 3]
saferT R P A

In which of the following organs insuline is produced?

1. ¥g1GR¥ [Pancreatic juice] 2. ?‘cﬂgﬁg [Pancrease]
3.5 [Liver] 4. 3FAd12=a1 [Blood Vessel]
3TUrEht v i AT — - — - - T ARSI HiSed!.

---------- has putforth the plum pudding model of atomic structure.

1. BB [Rutherford] 2. 391 BUMS [Rishi Kannada]
3. T8 [Thomson] 4.gTecA [Dalton]

ST S| yeercmefiel Tepep Ivrd ?

What is the unit of pressure in S| system?

1.7geT [N] 2. Uhe] [Pa]

3.N/m’ 4.971g 29 3 [Option 2 & 3]

fEeIeaT AT eraed e g Te 3 HSTT T,

Identify the element from the given atomic structure & its valency.

1. ferferam-3 [Lithium-3] 2. ARIEISH-3 [Nitrogen-3]
3. qRIEINH-5 [Nitrogen-5] 4. ®HIHI-5 [Phosphorus-5]
——————— HEY R,
The magnitude of an earthquake is measured on -
1. AHITH [Seismograph] 2. 3AFSRDIY [Electroscope]
3. PISINITH [Cardiograph] 4. Rz Tt [Richter scale]
GTetTeTdhl — —————— RRESRIEIEIRYIEEI]

------------ is not an effect of landslide.
1. T R AT g 9T AT ggerdl. [Rivers get flooded & change their paths]

2. ITE faRepadid gicl. [Affects the traffic]
3. 3[TFeAuS= g1, [Causes acid rain]
4. FTRYA /3T G ITARI Fofard Sfia 3Nes<gdT Id. [Destroys plant life onit]

Qettet 3rffeharer fARYST0T v T A T 3TosvaT.

Study the following equations & mark the correct option.

2[Al+2[B] — 2[A]OH + H,? s+0,—[lf, [B +[Cl—Dl
A B C D

. Na HO SO,  H,SO,

2. Na H,O SO,  H,SO,

3. K HO SO,  H,SO,

4. K HO SO,  H,SO,
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.15

.16

.17

.18

.19

TP WlefTeddht ——————- STRTATIR PRI Te TTUT NI &Il 3. -84t

One of the causes of water pollution is that the farmers use excessive ---------
1. 9 3ATfOT 9Toft [Manure & Water]

2. RIS Wt STfOr fhe19Tdh [Fertilizers & Pesticides]
3. IARIfep X9 JATIOT f9=mo [Fertilizers & Seeds]
4. fope19Teh 3MfOT IO [Pesticides & Seeds]

ST 2R YA TaRUNTT Hgecd el 3118 PRI —— — — ———

The Ozone layer is important because -----------
1. ASTa SITaT aR-TRATS! ST FvTdl. [itis used by living organisms for respiration]

2. BRUT AT Gl AT9H P! g1 [it decreases the temperature of the earth]
3. gedtaR qIgrauTR 3ffciet fhvuri SHToT ST ahvel. [it reduces the amount f UV rays reaching the earth]
4. gedfteRict ISOTAT Y@l aTaTaRuNe Rdfid el [reflect the heat from the earth back into atmosphere]

ISR 3Mehett TToft yefieht ATEt. SRor med ——————- 3.

The cell shown below can not be an animal cell because it has ------
i. 9efige [Cytoplasm] iii. b5e [Nucleus]
iii. 9eft freciat [Cell wall] iv. 913t Rfdaat [Large vacuole]
1. (i) & (ii) 2. (i) & (iii)

Joft Rrcchepr ueft g 3. (i) & (iv) 4. (i) & (iv)

[Cell wall] [Cytoplasm]

[Vacuole] [Nucleus]

--------- of the following cell organelle is single membrane bounded.

1.&5@ [Nucleus] 2. ATBRIPT [Lysosomes]
3. &iderdae [Chloroplast] 4. g [Mitochandria]

Cleaning of dust from carpetis due to ----------
1. Tl STeca [inertia of motion] 2. faRm 1w STecd [inertia of rest]

3. fe9rr Sieca [inertia of direction] 4. AT [momentum]

Tt FEITeT SDIVIT FRITE FRL SIS SR ?

Which of the following chambers of the heart has the thicker muscular wall.

1. 319 31ferg [Left atrium] 2.397d 31ferg [Right atrium]
3.3 ¥ [Left ventricle] 4. 9717 19 2 [Option 1 & 2]

ST T gehrd fIem iiesaT.
Which of the following statement s incorrect.

1. 37T felgmed SraRiSTfaRfad Jard ST 8l [Deoxygenated blood collects in right atrium.]
2. PEBRIEHH SlaRfIST Ry Yerd 18 =dl. [Pulmonary artery carries oxygenated blood]

3. PUGALIRT SATeRfISTger Ie< arg AdId. [Pulmonary veins carries oxygenated blood]

4. TgRIfgof \HTW“M-ﬁgcm EOEIRY . [Aorta carries oxygenated blood]
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9.21

9.22

9.23

9.24

9.25

T | T T || SRR IR S A1aT 9 feotedn yaiandie I yafy e, 3. - 8t

Match column I with column Il and select the correct option from the given.

Column-I Column-II

A mEEiR i, PUHATDS [ATETc e aTg TTuret ST
[Superior vena cava] [Carries deoxygenated blood to lungs]

B. 3rgmgefR ii. DD g T AT ISTTger Yer dTg SO
[Interior vena cava] [Carries oxygenated blood from lungs]

C. TUDpd gvt iii.  RIRTEIT WTeredT ANTagH famTersTc Tard IoTeT 3TfergId STTuTel ST,
[Pulmonary artery] [Brings deoxygenated blood from lower part of the body to right

atrium]

D. $ugpd ¥ iv. SRRTIT R HAIThgH [AATI&ISTcT Terd ISt JAfeigIel ATUTe] S,

[Pulmonary veins] [Brings deoxygenated blood from upper part of the body to right
atrium]

1. A-(ii), B-(iv), C-(iii), D-(I) 2.A-(iv), B-(i), C-(ii) , D-(iii)

3. A-(iv), B-(iii), C-(i) , D-(ii) 4. A-(iv), B-(i) , C-(iii) , D-(ii)

BT FRART 3TTaTST fH{0T HRUTRATST HATEMTS IR SR — ————— HTEH 3TR.

The instrument used in the laboratory to produce sound of a fixed frequency is --------

1. qe1®H [Simple pendulum] 2. 91GPICT [Tunning fork]

3. JI9HETYT [Thermometer] 4. Hlexyce! [Meter scale]

e RIRAS —————— Teheh 3178

Unit of frequency of sound is ----------

1.3Ree [Decibel (dB)] 2.8e% [Hertz (Hz)]

3.HIeR [Meter (m)] 4.9 [Second ()]

-------- T QI g e ufgel S Iuug Asa.

---------- was the first country to send an artifical satellite around the earth.

1. 9Rd [India] 2. 3frT [Russia]

3. 3MReT [America] 4.9 [Japan]

RIS et eTden] IvI HT JATFALHT 3118,

Which of the following compound is acidic from their molecular forumula?

1.Ca(OH), 2.NaOH 3.HNO, 4.KOH

I ST TaT 3MfT TRy vty forgr.

Match correctly & write correct option.
Coloumn-| Coloumn-II

A. TR [Vinegar] l. cIeia 3Tt [Tartaric acid]

B. AT[Orange] i. Sifdcd I [Lactic acid]

c. fu= [Temarind] iii. IR ot [Acetic acid]

D. G&l[Curd] iv. AR™fed A [Citric acid]

1. A-ii, B-iv, C-iii, D-I 2. A-iii, B-iv, C-i, D-ii

3. A-i, B-ii, C-iv, D-iii 4. A-ii, B-iii, C-iv, D-i

(4)
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Y. 34

-------- of the following is natural chemical change.

1. 299 [Respiration]

3. -84l

2. 39T Sae [Combustion of fuel]

3. G5 0T god 9901 [Softning of hard water] 4. 9d1d 23 3 [Option 2 & 3]

Which of the following is not an example of ionic compound.

1.NaCl 2.MgCl,

3.NH, 4.Ca0

T TGTUhT IV STl HepTeT URTacHT -1 geffad.

Which of the following demonstrates the law of reflection.

4. 40% 502
&/

GTeiiedeh! DUt IEHNTERG STRT STRT Hep1el IRTafcfd gIOTR ATgl 2

Which surface will not reflect most of the light falling on them?

1. @SSId ISHIT [Rough surface]
3. eI /73 AN [Smooth surface]

The natural indicator found in our homes is
1.9 [common salt]

3. GIoTaT ATST [baking sodal

e e A ffere 9 ——— ——- e 3
Velocity of sound is maximum in

1. @GS [iron]

3. g4l [air]

2. Feaehic USHI [Shining surface]
4. 37UR<Gefdh YSHIT [Opaque surface]

2.80¢ [turmeric]
4. [1ER [sugar]

2.9t [water]
4, R 99 [All of these]

T TeTUhT SDIVIIT TRARCIT &G+t A Uy 2ABUTR ATa! ?

Which of the following frequency of sound can’t be heard by human beings?

1.40Hz
3.4000 Hz

2.400Hz
4.40000 Hz

-40" C 371fT e HUTeNId SRAEISE ATHTTA el thedh — —————

Atemperature difference of -40° C and its fahrenheit scale is -------

1.40
3.80

T ATt Pivft AR dbeft 2

The first therometer was developed by -
1.5g¢T [Joule]

3. 7iferferaen [Galileo]

2.0
4.212

2. BNAETSE [Fahrenheit]

4.9 [Watt]

~
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9. 36

9. 37

9. 38

9.39

T SAIST 3T, 3. -8

Identify incorrect pair

1. Ppide-19 - ﬁEﬂUErF\’I 3SR [Covid-19 - Viral Disease]

2.5G — QIR T [5 G - Telecommunication technology]

3. fedigd ~ saTad= dasTH [Bitcoin - Block chain technology]

4. 3tfthfdrTer gefore = (Al) — A} 9TeT [Artificial Intelligence - Human Emotion]

GTeiie] faeTae RS STl
Identify the scientiest based on following sentences.

A. T HI B IRAT S e UTed fHosler.

[He recieved Adams prize in physics]
B. T IGHYNUT TG HRUIT 3ATe.

[He is Honoured with Padma bhushan]
1. 8t 9IT9T [Homi Bhabhal] 2. 31l 0T [Dr. C.V. Raman]

3. 79 R [Marie Curie] 4. 31 faspH RS [Dr. Vikram Sarabhai]
3. ). WU TATEE e Wietiefidh! Bl e /faem sRisk 31mg. ?

Which of the following statements regarding Dr. C.V. Raman is/are correct?

A. T AR &7 BT bt

[He worked in the field of chemistry]
B. T A JREPRI AHIIC hRUIT 3Te,

[He was Honoured with Nobel prize]

1.%ad A[OnlyA] 2.%ad B [Only B]

3. A3TIfOT BSIela! [BothA& B 4. FTIHY A1EY [None of these]

SIS 3Nl RuaTRaT
Identify Scientist IR (Radioactivity)
1. 1. 8+ 97T [Dr. Homi Bhabhal (physicist)

2. 8141l U [Dr. C.V. Raman] NN —

3. 5% 73 [Marie Curie] (Nobel prize)

4. 31, T9spH ARTHTS [Dr. Vikram Sarabhai]
ST, TUI.S. 37eqeT el ™ IredTaee Wleilelue! BHIur faer /e gebrel e ?

Which of the following statements regarding Dr. A.P.J. Abdul Kalamis/are incorrect?
A. g DRDO @ ISRO & T dhet.

[He worked in DRDO & ISRO]

B. ST 4IRaRuT SupareviHed Hegcayu! e Fraett

[He played pivotal role in Pokharan nuclear test]

1.%hadd A [OnlyA] 2.%dd B [OnlyB]

3. AT B3EE  [BothA&B] 4. RTIH AR [None of these]

~
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Y. 45

P AT A el WTetleTddh! Piurt faem /e a_ieR 3med ?

Which of the following statements regarding Kalpana Chawla is/are correct?
A. T Ueh RIS R gIeT.

[She was an Astronaut]

B. T SIARTSBIT 3TVl T RIS AT TRy bl

[She went to space onboard Apollo space shuttle]

1.%ad A [OnlyA] 2.%ad B [Only B]

3. AT B [BothA&B] 4. TP TS [None of these]
T 3N,

Identify me.

A. =Y 11T TASTHIC ST Ueh TR AT 37T,
I am an Indian space technology organisation

B. 1 Suug e & orf aa.
I am involved in satellite launching program.
1.341[ISRO] 2. AR [NASA]
3. SI3IREIRM [DRDO] 4.99fF 13 2 [Option1&2]
TETd 7 FHURT 276G 3MN5T.
Find odd man out.
1. T¢I -1 [Chandrayan - ] 2.9 - |l [Chandrayan - 11]
3. 7MHA [Gaganyaan)] 4. 49 919 [Mission Mom]
3Ne5T.
Identify
. ald w1 g
g |gfd Sigedl I8 [Hotest planet]
[Closest planet from earth]
gfemien gafed gl
[Sun rises on west]
1. gsh [Venus] 2.7 [Jupiter]
3. 575 [Mars] 4.99 [Mercury]
Tl SIS 3T,
Identify wrong pair.
1. T99M 918 — H¥ [Mission Mom - Mars] 2. 371feed — g [Aditya - Sun]
3. I — b [Gaganyan - Venus] 4. T¢I -1 - T [Chandrayan-I - Moon]

ST qTEATHEY WefieTdeh! IvTT bRl St HTREIT aTuRard ?
Which battery is predominantly used in Electric Vehicles (EVs) ?
1. feTfer3r— 31 sfes [Lithium-ion Battery]

2. MideT-Hed ekt [Nickel-metal Battery]
3. feTe - 3148 el [Lead-Acid Battery]
4. fdha deffarg st [Nickel Cadmium Battery]

3. -84l

(7))
\7}




Y. 46

9. 47

9.48

TefiepRuT 1ef AIUIRIIS! Riegie e A vt e, g -8

Select the correct combination of mathematical signs to balance the following equation.

(12[J7[de) [J13[]s

L.x,=,+,- 2.+ ,-,=,% 3.-,+, x,= 4.x -, =+ ,=

g1 fohche eIt UepT Ui T Udell. Ui HaTaT 3R 79 eief AT STTed a7 Faeid U fhet A
gt ?

Ten cricket teams take part in a tournament. Each team has to play very other team. How many total
matches must they play?
1.90 2.81 3.45 4.110

R Tep 1 10 feaaTeT uf ehvall. G e T YU PRUAATS! 15 foasT ST,
SR QT e o i dhed ™ fohcl! feasTd qut glgdt 2

Ram finishes a work in 10 days. Sudam finishes the same work in 15 days. How many days will they
take to finsh that work together?

1.25 2.12.5 3.6 4.7.5

ForQ.49to 53

9. 49

9.50

9.51

9.52

9.53

SUSHT, TRISH 7 fEQ) v arfeted Uat uRiaiett 500 fereff sxel 2ld. @eflet 3faheile AR
STeTedT e eld v faemeaf A qeffieie 31me. AT Ereiiel Here Ik foreT.

Observes the diagram carefully and answer the questions given below.
Five hundred candidates appeared in an examination comprising tests in English, Marathi and Hindi.
The diagram gives the number of candidates who failed in different tests.

=

Sl fact
[English] ﬁ [Hindi]
e Lms
[Marathi]
Thard QI fIaie AT faemeafet e ot 2
What is the total number of candidates who failed in only two subjects?
1.25 2.35 3.40 4.60

ST TISRITe 19T FTetet Gepur faermeff febeft 2

Whatis the total number of students who failed in English?
1.55 2.30 3.445 4.50

RIS fsaTd urg St foemeat G fahdt?

What is the number of candidates who passed in Marathi

1.460 2.480 3.440 4.430
<ITeT faITe OT FHTetel Uegun faemet facit?

How many total candidates are there who passed in all the three subjects?

1.135 2.365 3.95 4.495

Therd Uehl faSTa UT SieiedT faemeafa el T fheft?

What s the percentage of candidates who passed in only one subject?
1.93 2.19 3.7 4.5

~
o0
~



For Q.54 to 56 3. -8t
TRATg TR STRIT A1 UG Ui ST,

Find the missing character.

1.20 2.25 3.30 4.22
15 2 9 7 13 16
.55 80 65 ?
5 6 4 6 11 8
1.35 2.48 3.72 4.120
.56 131541 1.2 2.36
' 7 145132 ’ ’
27144] 68 3.6 4.4

T.57  Wieliel SSIERUIT Aic (RIS e m AT 31eRTH fohwc uiie e Q.

Observe the following example, carefully and find the value of letter m . from the given option.

[15]33]|27]36]32|m| 8| 2] 2] 4]
18] 9
2211
12| 3
1.3 2.4 3.8 4.12

T.58 el STl e o /A Feeidn areft sedt JreTell HHad g 3R T S8 STedTeR rel B
RIS ?

You find that the person whom you call your friend has been cheating you. What would you do?
1. <o / foreanelt aRTetel ey diead [Break relations with him/her]

2. T / foreaneft S9Nt a9 9T [Give him/her fit fo tat]
3. Tt / ol T e / forea e MU SITdl [Make him/her realise his/her mistake]
4. T / foreaT gehiea acTagGe SoR AT AR, [Tell other friends about him]

U.59 Gl Iierd A SRUIRATS! I ufy fae.

Choose the best alternative as the answer.

DIVITE ASTEAT —————— e} 3RIATd. [Aman always has ------]
1.QId [Teeth] 2.91Y [Feet] 3.81d [Hands] 4.7 [Heart]
wed P




ForQ.60to 62 3. -8t

9. 60

9. 61

9. 62

9.63

9. 64

9. 65

fSetean Aferdrdier Mg shira fRETT ot AT JUTRT Yelet STl TR ST 3T1eowdT,

Select a figure from amonst the answer figures which will continue the series established by the four
problem figures.

) (DO X L0
LY 2 1) ( (O S0

<& =] -
L 2 [A 5 & . [<
ARV ANV nv/a NV 4
NV % a7z vy

— et aTahciiciicl TehuT Tl ST fapet ?

Countthe number of rectanges in the given figure.
1.8 2.14

—  3.18 4.20
JRIcTUh! IO TeTchie] STaRT STRATHe Hicr T defier fowtet 2

Which of the following collections of letters will look the same in the mirror?
1. OSMIHOM 2.VHRTRVA 3.HIMOSTA 4. AVOIVOA

fetear s STervfifes wafaig argm Fasr

Choose the correct waterimage of the given figure from the given alternatives.

T o x

ForQ.66to 68

9. 66

9. 67

TTO eI G R ARI&T0T dhje [ ReieaT Heiel SR Ta I SFd e,
(e ysiar fotfgeiell sleR UVW XY Z)

Two positions of a dice are shown. Observe it and answer the questions. (Letter written on the faces of
thediceare-UVW XY 2Z)

@ &7

SicgT TeredT gBIeR X g 318R JRie ! avedT ISTaR DIV 31&R A ?

When Xis at the bottom, which letter will be on the top?
1.Y 2.7 3.U 4. W

VT 31&RTYT fahgd YSTaR iU &R el ?

Which letter will be on the opposite face of the dice?
1.X 2.7 3.Y 4. W

(10)



9. 68

W T ST&RTTT 2SR ISTaR DIV 31&R AR TR ? 3. - 8@t

Which letter will not on the adjacent face of letter W?
1.X 2.V .Y 4.U

ForQ.69to 71

9. 69

.70

g.71

9. 72

9.73

Y. 74

.75

feeTea wrfordd e e HeAfRmgred STt AR Ug YA AT 3 31T,

Observe the given series and find the correct term from the given alternatives that can replace the
quesion mark.

92,83,74,56,7?

1.47 2.44 3.67 4.45

I,Y,AP,?

I.N 2.L 3.8 4.D

93,105,111,115,?

1.115 2.117 3.122 4.119
Wﬂﬁﬁlﬁi‘lﬂﬁﬂcah bcq,dog=cqd, pen =ogk3R§rﬁ=|'%FTu1ld TN T Alhicd 9T mix gl 2[eq
ERINRIRSISIES N

In a certain code language

catis writtenas bcq

dogis writtenas cqd and

pen is written as ogk then

How will be the word mix written in that code language?

1. nix 2.1ku 3.lju 4. knu

ehTd UG 375l

Find an odd man out
13,23,43,53,63
1.23 2.63 3.13 4.43

BTE! TS T T HTeTdh R ATt 81, TS d <] HIeidhied i} AvedT 84 gl ok €S d HIeid it
TRUT HRAT 25 B AT ATfE o Sl HeeT HIeTeh e Aua fohef ST el ?
Some horses are going some where with their owners. Total plegs of the horses and their owners are

84 and total of the horses and their owners was 25. How many horses were more than the number of
theirowners?

1.17 2.16 3.9 4.8
S T SRIST 33 3R <T@ UM 252 318, TR IT QI Seediciie] Heh fehell 2

Addition of two numbers is 33 and multiplication of these two numbers is 252 find the subtraction of
these two numbers.
1.8 2.10 3.15 4.9

s ats als als ats afs ofs
R AR R R R RN

(a1 TeTufadt IR Fot (Answer Key) €/ @ www.drevramanexam.in J9RIEeeR IUy 8lgeT)




